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R3




1/2)

| | 5-02-53-014
R2 RS
(R6_R9)
3,000 6,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 3,000 0 0 0
0 0 0 0
1
R )
a 3 3 6 3 3
b 0 0 0 0 0
b/a_% 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,000 3,000 3,000 3,000 12,000
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 12.000
0 0 0 0 0
0 0 0 0 0
R3 3,000 6,000 3,000 3,000 65 75
____________________ O N ¢ [ o W N (86.7%)
____________________ ol 0 _____0
3,000 3,000 3,000 3,000
-------------------- 6 I ------------6-------------0-' R3.8.27
"""""""""" o """ ""3p00 T "o TTTTTTTTTo
0 0 0 0
IR E ol 0 o 0]
____________________ ol oo _______0
____________________ o o ______0
0 0 0 0
"""""""""" ol TRl T T T T O T TTTTTTTY R3.5.7




1/2)

| | 5-02-53-015
R2 RS
(R6_R9)
7,000 14,000 110,000 60,000 78,000
0 0 19,000 0 0
0 0 0 0 0
0 14,000 90,000 58,000 75,000
0 0 0 0 0
7.000 0 1,000 2,000 3,000
0 0 0 0
1
R )
a 1 1 2 1 2
b 0 2 0 0 0
b/a % 0.00 200.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
7,000 14,000 110,000 60,000 78,000
0 0 19.000 0 0
0 0 0 0 0
0 14,000 90,000 58,000 75,000
0 0 0 0 0
7,000 0 1,000 2,000 3.000
R3 7,000 14,000 110,000 60,000 60 75
____________________ ol -0 _______19000 ] _________0 (80.0%)
____________________ ol 0 _____0
I I ol ____ 14,000 f _______%0,000 ) ______ 38,000 |
0 0 0 0 R3.5.27
""""""""" ] N D )
8,580 0 0 0
I 1780 | O o __________o]
____________________ ol oo _______0
____________________ o o ______0
6,830 0 0 0
"""""""""" ol TRl T T T T O T TTTTTTTY R3.5.13




1/2)

| | 5-02-53-016
R2 RS
10 x50 500 5 x 200 1,000
2 x 500 1,000 2 x 300 600
2 x 200 400
(R6_R9)
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 17 17 17 17 17
b 0 18 0 0 0
b/a_% 0.00 105.88 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
3,500 3,500 3,500 3,500 14,000
0 0 0 0 0
0 0 0 0 0
R3 3,500 3,500 3,500 3,500 65 75
____________________ O N ¢ [ o W N (86.7%)
____________________ ol 0
I I 3,500 | 8,500 | _ . 3,900 | _______- 3,500 |
0 0 0 0 R3.5.27
"""""""""" N Y )
3,550 0 0 0
IR E ol 0 o 0]
____________________ ol oo _______0
_________________ 3,800 ___ O O _____0
0 0 0 0
"""""""""" s 1 T T T T O T TTTTTTTY R3.5.7
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1/2)

| | 5-02-53-018
RA RA
(R6_R9)
0 0 3,600 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 3,600 0 0
0 0 0 0
1
R
- 1
- 0
0.00

b/a
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1/2)

| | 5-02-53-022
RA RS
12

(R6_R9)
0 0 3,300 2,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 3,300 2,500 0
0 0 0 0

1

R

a 1 1
b 0 0
0.00 0.00

b/a

%




©/2)

75

60

(80.0%)

R3.7.16

2,500

0

2,500

3,300

3,300

(R

%

b/a

R3




1/2)

| | 5-02-56-001
R3 R3
(R6__R9)
0 4,400 0 0 5,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 4,400 0 0 5,000
0 0 0 0
1
R )
a 1.80 1.80 1.80 1.80 2.00
b 0.00 0.00 0.00 0.00 0.00
b/a % 0.00 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
0 0 0 2,700 5,000
0 0 0 0 0
0 0 0 1,300 0
0 0 0 0 0
0 0 0 0 0
0 0 0 1,400 5.000
R3 0 4,400 0 0 45 75
____________________ O N ¢ [ o W N (60.0%)
____________________ ol .0
0 0 0 0
-------------------- 5 i ------------6-------------0-- R3.5.27
"""""""""" ol T T T Ao T T TTTTTTTo T TTTTTTTTTo
0 0 0 0
IR E ol 0 o 0]
____________________ ol oo _______0
____________________ o o ______0
0 0 0 0
R ol T T T T T ol o]




1/2)

| | 5-02-56-002
R2 RS
(R6_R9)
2,000 2,000 2,000 2,000 8,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2.000 2,000 2,000 2,000 8,000
2,000 2,000 2,000 2,000
1
R )

a 1 1 1 1 1
b 1 1 0 0 0
b/a % 100.00 100.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
2,000 2,000 2,000 2,000 8,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,000 2,000 2,000 2,000 8.000
R3 2,000 2,000 2,000 2,000 50 75
____________________ O N ¢ [ o W N (66.7%)
____________________ ol .0
I I ol 0 A I 0 )
0 0 0 0 R3.5.27
""""""""" 2,000 [T T2,000 T 772,000 | 2,000
2,000 0 0 0
IR E ol 0 o 0]
____________________ ol oo _______0
____________________ o o ______0
0 0 0 0
""""""""" Z000]7TTTTTTTTTTYTTTTTTTTTTT YTy | Resee




1/2)

| | 5-02-56-012
R2 R2
(R6 R
5,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5,000 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 877 900 900 900 900
b 1,130 615 0 0 0
b/a % 128.85 68.33 0.00 0.00 0.00




©/2)

R )
a
b
b/a %
5,000 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
5,000 0 0 0 0
0 0 0 0 0
R3 5,000 0 0 0 45 75
____________________ 0 I AN o B N O (60.0%)
____________________ ol o ______0
IR I 0 S 0 | 0
5,000 0 0 0 R3.5.27
"""""""""" ol ""TTTTTTTTTO T T T Ty
5,280 0 0 0
IR E 0O o | o ___0_]
____________________ ol 8o ______0
____________________ ol _________°4f oL ________0
5,200 0 0 0
------------------- olTTTTTTTTTTYE T Ty T R3.5.6




1/2)

| | 5-02-56-004
R2 RS
3 8 3 6974
(R6_R9)
15,000 15,000 15,000 13,000 15,000
0 0 0 0 0
0 0 0 0 0
15,000 15,000 15,000 13,000 15,000
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 1 1 1 1 1
b 1 1 0 0 0
b/a_% 100.00 100.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
1 1 2 1
8
15,000 15,000 15,000 13,000 15,000
0 0 0 0 0
0 0 0 0 0
15,000 15,000 15,000 13,000 15.000
0 0 0 0 0
0 0 0 0 0
1 1 2 1
8
R3 15,000 15,000 15,000 13,000 60 75
____________________ O N ¢ [ o W N (80.0%)
____________________ ol 0
| ___1%0000 15,000 f _______15000 ) ______ 13,000 |
0 0 0 0 R3.5.27
"""""""""" N Y )
13,747 0 0 0
IR E ol 0 o 0]
____________________ ol o0 _______0
________________ 8,70) 0 o ______0
0 0 0 0
"""""""""" o2 T e e R R R3.5.6




1/2)

| | 5-02-56-006
R2 R5
(R6__R9)
18,300 17,700 14,300 10,000 40,000
0 0 0 0 0
6,800 7,300 9,400 6,600 26,400
7,400 7,400 4,900 3,400 13,600
0 0 0 0 0
4,100 3,000 0 0 0
0 0 0 0
1 ha
R )
a 20.00 20.00 20.00 20.00 20.00
b 25.35 19.84 0.00 0.00 0.00
b/a % 126.75 99.20 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
80ha
18,300 15,900 14,300 10,000 40,000
0 0 0 0 0
6,800 10,500 9,400 6,600 26.400
7,400 5,400 4,900 3,400 13.600
0 0 0 0 0
4,100 0 0 0 0
20ha 20ha 20ha 20ha
R3 18,300 17,700 14,300 10,000 50 75
____________________ ol OV O ______0 (66.7%)
_________________ 6.8001 _______ 7301 ______ 9400 ______ 6,600
I [R5 LR I 4900 | 3,400 |
0 0 0 0 R3.5.27
""""""""" o T o Y )
15.6ha
1.4ha
900m
16,501 0 0 0
S ol o o4 0]
_________________ 64 oo 0
_________________ a0y o 0
0 0 0 0
""""""""" G L N e N A
1.4ha 2.84ha
900m

15.6ha
939.951m3




1/2)

| | 5-02-56-007
R4 RS
(R6_R9)
0 0 20,500 20,500 82,000
0 0 0 0 0
0 0 17,500 17,500 70,000
0 0 0 0 0
0 0 0 0 0
0 0 3,000 3,000 12,000
25,000
0 0 0 0
1
R )
a 1 1 1 1
b 0 0 0 0
b/a % 0.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
700 700 700 700
0 20,500 20,500 20,500 82,000
0 0 0 0 0
0 17,500 17,500 17,500 70.000
0 0 0 0 0
0 0 0 0 0
0 3,000 3,000 3,000 12.000
700 700
R3 0 0 20,500 20,500 50 75
____________________ ol __________ 0] _ _________Oo]_ _________o (66.7%)
____________________ ol % _______ 17,5001 _____ 17,500
I A ol 0 . 0 I 0 ]
0 0 0 0 R3.5.27
"""""""""" o] O T T T T T3000 | T T T 78,0000
0 0 0 0
S S ol o o 0]
____________________ ol oo ____0
____________________ ol 00
0 0 0 0
R ol T T TTTTTOoOT T T T T ol 0]




1/2)

| | 5-02-56-008
R2 R3
(R6_R9)
5,000 12,000 0 0 0
0 0 0 0 0
2,500 6,100 0 0 0
2,400 5,800 0 0 0
0 0 0 0 0
100 100 0 0 0
0 0 0 0
1
R
a 2 2 1
b 2 0 0
b/a % 100.00 0.00 0.00




©/2)

R )
a
b
b/a %
5,000 4,000 0 0 0
0 0 0 0 0
2,500 2,000 0 0 0
2,400 2,000 0 0 0
0 0 0 0 0
100 0 0 0 0
R3 5,000 12,000 0 0 40 75
____________________ 0 I AN o B N O (53.3%)
_________________ 2,50) _______S&M00,) O __________O
IR 2,400 ________ 580 | 0 | 0
5 5 5 5 R3.5.27
R N ol T 2 A S 0
4,895 0 0 0
IR E 0O o | o ___0_]
_________________ 2,447 _________ O 0 ______0
_________________ 2%0( ________ oM _________ O _________O
0 0 0 0
------------------- wlTTTTTTTTE T T YT T T T R3.5.6




1/2)

| | 5-02-56-013
R4 R4
(R6_R9)
0 0 25,000 0 0
0 0 10,000 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 15,000 0 0
14,580 3,500 8,143
1,000 1,000 1,000 1,000
1
R )

a 60 60 80 100 100
b 0 0 0 0 0
b/a % 0.00 0.00 0.00 0.00 0.00
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1/2)

| | 5-02-56-020
R2 R5
(R6__R9)
6,400 4,500 6,000 6,000 28,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
6,400 4,500 6,000 6,000 28,400
0 0 0 0 0
7,050 7,050 7,050 7,050
1 ha
R )
a 50.00 50.00 50.00 50.00 50.00
b 13.85 12.35 0.00 0.00 0.00
b/a % 27.70 24.70 0.00 0.00 0.00




©/2)

(R )
a 1 1 1 1 1
b 1 1 0 0 0
b/a % 100.00 100.00 0.00 0.00 0.00
0 0 0 0 28,400
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 28,400
0 0 0 0 0
R3 6,400 4,500 6,000 6,000 55 75
____________________ ol __________©Oo] 0o (73.3%)
____________________ 0 Y .0
I A O] 0 | U . 0
6,400 4,500 6,000 6,000 R3.5.27
"""""""""" N Y )
6,382 0 0 0
I I —— 0O L N
____________________ oy 0 0
____________________ ol o _____0
6,382 0 0 0
-------------------- 1 TTTTTTEVITTTTTTYYIT T R3.5.6




1/2)

| | 5-02-56-018
R2 R2

(R6_R9)

19,300 0 0 0 0

19.300 0 0 0 9

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0

1
R

a 192
b 102
b/a % 100.00
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(0.0%)
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b/a
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1/2)

| | 5-02-56-010
R4 R4
60 20
(R6__R9)
0 0 13,000 0 0
0 0 0 0 0
0 0 6,500 0 0
0 0 6,500 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 1
b 0
0.00

b/a

%
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1/2)

| | 5-02-56-014
R2 RS
(R6_R9)
1,800 1,800 1,800 1,800 7,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
1.800 1,800 1,800 1,800 7,200
1,800 1,800 1,800 1,800
1
R )

a 6 6 6 6 6
b 0 7 0 0 0
b/a % 0.00 116.67 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
0 0 0 0 7,200
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 7,200
R3 1,800 1,800 1,800 1,800 50 75
____________________ O N ¢ [ o W N (66.7%)
____________________ ol .0
I I ol 0 A I 0 )
0 0 0 0 R3.5.27
""""""""" 1,800 4,800 |7 T T1,800 | 1,800
930 0 0 0
IR E ol 0 o 0]
____________________ ol oo _______0
____________________ o o ______0
930 0 0 0
"""""""""" ol TS T T T T YO T T TTTTTTY R3.5.6




1/2)

| | 5-02-56-019
R2 R2

(R6_R9)

4,000 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

4.000 0 0 0 2

0 0 0 0

1
R

a 1
b 1
b/a % 100.00




©/2)

75
(0.0%)

___6_________.

R3.5.25

R3.5.6

olololo

(R

4,000

4,000

3,476

3,476

%

b/a

R3




1/2)

| | 5-02-57-001
R2 RS
10 12 50 25 25
(R6_R9)
2,500 2,500 2,500 2,500 0
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 2,500 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 50 50 50 50 50
b 50 50 0 0 0
b/a_% 100.00 100.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
50 50 50
2,500 2,500 2,500 0 0
0 0 0 0 0
0 0 0 0 0
2,500 2,500 2,500 0 0
0 0 0 0 0
0 0 0 0 0
50 50 50 50
R3 2,500 2,500 2,500 2,500 70 75
____________________ O N ¢ [ o W N (93.3%)
____________________ ol 0 _____0
I I 2,500 | 2,500 | . 2,500 ) 2,500 |
0 0 0 0 R3.5.27
"""""""""" N Y )
50
2,500 0 0 0
IR E ol 0 o 0]
____________________ ol oo _______0
_________________ 2,800 ___ O O _____0
0 0 0 0
"""""""""" ol TRl T T T T O T TTTTTTTY R3.4.29

50




1/2)

| | 5-02-57-002
R2 RS
5 6
10 500 200 300
(R6_R9)
3,000 3,000 3,000 3,000 0
0 0 0 0 0
0 0 0 0 0
3,000 3,000 3,000 3,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0
1
R )
a 40,000 40,000 40,000 40,000 40,000
b 40,000 40,000 0 0 0
b/a % 100.00 100.00 0.00 0.00 0.00




©/2)

(R )
a 20,000,000 2,000,000 2,000,000 2,000,000 2,000,000
b 20,000,000 2,000,000 0 0 0
b/a % 100.00 100.00 0.00 0.00 0.00
3,000 3,000 3,000 0 0
0 0 0 0] Q
0 0 0 0 0
3,000 3,000 3,000 0 0
0 0 0 0 0
0 0 0 0 0
R3 3,000 3,000 3,000 3,000 70 75
____________________ O N ¢ [ o W N (93.3%)
____________________ ol 0 _____0
I I 3,000 ________ 8,000 | ________ 3,000 ) _______- 3,000 |
0 0 0 0 R3.5.27
"""""""""" N Y )
3,000 0 0] 0
IR E ol 0 o 0]
____________________ ol oo _______0
_________________ 3000 ) O o ______0
0 0 0 0
"""""""""" ol T TTTTTTT Y T T T T T T T T R3.4.29
4

500




1/2)

| | 5-02-57-003
R2 RS

7 14
(R6 _R9)
71,400 71,400 71,400 71,400 285,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
70,000 70,000 70,000 70,000 280,000
1.400 1,400 1,400 1,400 5,600
0 0 0 0

1
(R )

a 6 6 6 6 6
b 6 6 0 0 0
b/a % 100.00 100.00 0.00 0.00 0.00




©/2)

(R )
a
b
b/a %
71,400 71,400 71,400 71,400 285,600
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
70,000 70,000 70,000 70,000 280,000
1,400 1,400 1,400 1,400 5600
R3 71,400 71,400 71,400 71,400 60 75
____________________ O N ¢ [ o W N (80.0%)
____________________ ol .0
I I o 0 A I 0 )
70,000 70,000 70,000 70,000 R3.5.27
""""""""" 1,400 [T TL,400 7T T T1400 | T 1,400
71,381 0 0 0
IR E ol 0 o 0]
____________________ ol oo _______0
____________________ o o ______0
70,000 0 0 0
""""""""" e L T I N




1/2)

| | 5-02-57-004
R2 RS
(R6_R9)
21,700 22,000 19,000 19,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,400 11,400 14,700 14,700 0
19,300 10,600 4,300 4,300 0
0 0 0 0
1
R )
a 1,000 10,000 15,000 15,000
b 3,497 0 0 0
b/a % 349.70 0.00 0.00 0.00




©/2)

(R )
a 4 4 4 3 3
b 4 4 0 0 0
b/a % 100.00 100.00 0.00 0.00 0.00
21,700 35,000 35,000 35,000 0
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0
2,400 5,000 10,000 15,000 0
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R4 R5

R4

R5

R6
(R6__R9)
0 0 1,600 8,000 22,400
0 0 0 0 0
0 0 0 0 0
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22,400 0 0 0
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a 55 55
b 0 0
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12,000 9,000 10,000 10,000 40,000
0 0 0 0 0
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b 67.70 69.50 63.00 0.00 0.00
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0 2,700 2,700 2,700 10,800
0 0 0 0 0
0 0 0 0 0
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1
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